Math Il Independent and Dependent Conditional Events

r W Scrabble has 100 tiles, 98 of which are letters and two of which are

blank. The numbers of tiles of each letter are shown in the diagram

Find the probability of the following events:

1. Choosing an “S” tile and keeping it, then choosing

another “S” tile. A 9 H 2 0 8 V 2
B 2 | 9 P2 W2
2 1 1 1

2. Choosing a vowel tile and keeping it, then choosing a c J 0 x
blank tile. L Dia K 1 R 6 Yi2
| CER12 il S 4 Z 1

3. Choosing a vowel tile and keeping it, then choosing

another vowel tile and keeping then choosing another ’ F Z M - T J :
vowel. [ G 3 N 6 U 4 Blank

\

KA number is selected, at random, from the set {1,2,3,4,5,6,7,8}. Find:
a) P(odd)
b) P(prime|odd)

A box contains three blue marbles, five red marbles, and four white
marbles. If one marble is drawn at random, find:

a) P(blue | notwhite)

b) P(notred | not white)

A number is selected randomly from a container containing all the
integers from 10 to 50. Find:

a) P(even| greater than 40)

b) P(greater than40 | even)

c) P(prime|between 20and 40)
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Math Il Independent and Dependent Conditional Events

K Events A and B are independent. Find the indicated probability.

P(A) = 0.3 P(A) = 2 P(A) = 075
P(B) = 0.9 P(B) = 0.3 P(B) =2
P(Aand B) = 2_ P(A and B) = 0.06 P(A and B) = 0.15

Events A and B are dependent. Find the indicated probability.

P(A) = 0.1 P(A) = 2 P(A) = 0.9
P(B|A) = 0.8 P(B|A) =05 P(B|A) = 2
P(Aand B) = 2 P(A and B) = 0.25 P(A and B) = 0.54
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Three friends are taking an English class that has a summer reading list. Each student
is required to read one book from the list, which contains 3 biographies, 10 classics,
and 5 historical novels.

Find the probability that the first friend chooses a biography, the second friend
chooses a classic, and the third friend chooses a historical novel.

Find the probability that the three friends each choose a different classic.
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‘i, COSTUMES You and four of your friends go to the same store at different
times to buy costumes for a costume party. There are 20 different costumes at
the store, and the store has at least five duplicates of each costume. Find the
probability that all five of you choose different costumes.
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